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QUESTION 1

The IT Team at a small company wants to use Horizon Apps to deploy a specialized 3D modeling application with
image scanners using minimum storage space. It has installed RDS and the 3D application on a Master RDS VM. 

What steps remains in the deployment? 

A. Install Horizon Agent on the Master RDS VM including the 3D RDSH and Scanner Redirection options Clone the
Master RDS VM Create a manual RDS Farm using the clones Create a desktop pool Entitle the desktop pool 

B. Install Horizon Agent on the Master RDS VM including the 3D RDSH and View Composer options Create an
automated RDS Farm using the Master RDS VM Create a desktop pool Entitle the desktop pool 

C. Install Horizon Agent on the Master RDS VM including the 3D RDSH and Instant Clone options Create an automated
RDS Farm using the Master RDS VM Create a desktop pool Entitle the desktop pool 

D. Install Horizon Agent on the Master RDS VM including the 3D RDSH and Serial Port Redirection options Clone the
Master RDS VM Create a manual RDS Farm using the clones Create a desktop pool Entitle the desktop pool 

Correct Answer: A 

 

QUESTION 2

When meeting with a customer, these VM template requirements for instant-clone are determined: 

1. 2 vCPU 

2. 4 GB Memory 

3. 20 GB OS disk 

Which is the formula to design a 40% utilization strategy for 80 desktops, given the above requirements? 

A. 80 * ((0.4 * 20) + 4) +20 

B. 80 * (0.4 * 20) + 20 

C. 80 * ((0.4 * 20) + 4) + (2*20) 

D. 80 * (0.4 * 20) + (2*20) 

Correct Answer: A 

 

QUESTION 3

A customer is planning on implementing Horizon View. Security is a major concern. Only corporate managed Windows
laptops should be able to access the Horizon environment from the Internet. Which solution should be implemented to
support the requirement? 

A. Deploy NSX. Use NSX feature to validate client\\'s MAC addresses and only allow registered clients. 
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B. Deploy VMware Identity Manager. Configure it to require RSA SecureID. Only install the RSA SecureID soft token
software on managed devices. Configure Horizon to allow SAML. 

C. Deploy View Security Server. Configure it to only allow domain joined computers accessing Horizon. 

D. Deploy Unified Access Gateway. Configure it to require a device client certificate and to use pass-through
authentication for Horizon. Distribute certificates to managed devices. 

Correct Answer: D 

 

QUESTION 4

When determining the number, type, and size of Horizon View components to be installed, which three pieces of
information must an architect know? (Choose three.) 

A. Number of concurrent users who will connect to the environment. 

B. Type of client that will be used by the users. 

C. Version of Windows that will be used for the virtual desktops 

D. Type of desktop pools that will be provisioned. 

E. Maintenance windows and availability requirements for the environment. 

Correct Answer: BCD 

Reference: https://docs.vmware.com/en/VMware-Horizon-7/7.2/view-72-installation.pdf 

 

QUESTION 5

A customer has made the decision to implement App Volumes. The customer has two data centers for High Availability.
VMware recommends two different deployment modes for App Volumes in a multi-site implementation. 

Which two requirements are common to all of the models? (Choose two.) 

A. Deploy a Microsoft SQL Cluster. 

B. Deploy a minimum of one App Volumes manager in each site. 

C. Ensure AppStack replication is configured. 

D. Reproduce Entitlements in both locations. 

Correct Answer: CD 
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